009 FE (F12E) XAV TS —d)LTKE

IR

FfER  FMTE10A248 (K)

RS EMEA N =057

IBhf K 4 7Y k4 v|vazxlnrTa| 2y b g IBG] K 4 Forl4 v|FaR|INUT4| 2y b g g6 K 4 FYOrA4 v|TaR|INVTA| 2V b g
1 |58 &K 41 45 86 16.8 69.2 [EHO 37 |EZE B 40 43 83 8.4 74.6 13 |3 EF 50 53] 103 26.4 76.6
2 | AN & 42 40 82 12.0 70.0 |#@BO 38 |[HA [E 41 48 89 14. 4 74.6 14 [E HR 43 41 84 1.2 76.8
3 |BTH IE# 41 46 87 16.8 70.2 #3420 39 | E— 46 42 88 13.2 74.8 15 &Il & 44 40 84 1.2 76. 8
4 |BER % 40 37 717 6.0 71.0 40 (g & 39 49 88 13.2 74.8 @) 76 |t# IEER 44 46 90 13.2 76. 8
5 |& #5h 36 41 717 6.0 71.0 a1 |5 i 43 45 88 13.2 74.8 77 8 FmX 47 43 90 13.2 76. 8
6 [FIER 21T 39 41 80 8.4 71.6 42 |5 EE 41 39 80 4.8 75.2 18 |AO 2 47 43 90 13.2 76. 8
1 |58 =% 48 38 86 14. 4 71.6 43 [1u%%x m— 42 44 86 10. 8 75.2 19 |Fek Ex 50 521 102 25.2 76. 8
8 |BE®H BEX 41 32 13 1.2 7.8 44 |¥1; FIB 45 41 86 10. 8 75.2 80 |mE = 44 39 83 6.0 77.0 @)
9 &Nl R 39 38 717 4.8 12.2 45 |1k & 42 44 86 10. 8 75.2 81 =4 & 42 41 83 6.0 77.0
10 ME42K HiE 40 37 717 4.8 12.2 @) 46 (428 MRS 40 39 79 3.6 75.4 82 [Fix & 44 45 89 12.0 77.0
11 [BK &= 43 40 83 10.8 12.2 47 |=iF &% 42 43 85 9.6 75.4 83 [AF B 47 541 101 24.0 77.0
12 | Tk FA 4 42 83 10.8 12.2 48 fERK FBE 46 45 91 15.6 75.4 84 (=iF SHMER 40 48 88 10.8 71.2
13 |[FE BB 45 44 89 16.8 12.2 49 | K% AR 48 43 91 15.6 75.4 85 |1Emk & 45 42 87 9.6 17.4
14 ¥ =k 40 42 82 9.6 12.4 50 | H2 41 50 91 15.6 75.4 @) 86 [KIL #— 47 45 92 14. 4 71.6
15 [#l XXk 41 40 81 8.4 712.6 51 |JIl%t 158 45 39 84 8.4 75.6 87 |FrLh —E 50 48 98 20.4 77.6
16 | RKiLk —A 38 36 74 1.2 72.8 b2 [T ™ 45 39 84 8.4 75.6 88 |EA” K FIx 43 42 85 1.2 77.8
17 ||l T 39 40 79 6.0 73.0 b3 |LEIE Bk 47 43 90 14. 4 75.6 89 (&5 K FA 47 44 91 13.2 77.8
18 |#H FE 50 41 91 18.0 73.0 54 |=F #&XE 41 42 83 1.2 75.8 90 |ZHA # 50 53] 103 25.2 71.8 @)
19 [iE2 [E 42 42 84 10.8 73.2 b5 |’k HAF 41 42 83 1.2 75.8 N [ER 7| 49 41 90 12.0 78.0
20 Kk EEF 42 48 90 16.8 73.2 @) 56 |/hNEF R 44 45 89 13.2 75.8 92 |18 EA 48 42 90 12.0 78.0
21 | B BEE 48 48 96 22.8 13.2 57 |BR 4% 43 46 89 13.2 75.8 93 |#5K HEih 51 511 102 24.0 78.0
22 |Ihk2 K 42 41 83 9.6 713.4 58 | fH— 46 49 95 19.2 75.8 94 |tk FX 45 44 89 10.8 78.2
23 |[xB FA 45 44 89 15.6 713.4 59 |FT&E EMF 49 46 95 19.2 75.8 9% |[F#kE F* 48 47 95 16.8 78.2
24 [8HE M 44 45 89 15.6 13.4 60 |85 K FlkE 41 41 82 6.0 76.0 @) 96 [#EER HE 45 50 95 16.8 78.2
25 |¥E)Il E 40 36 76 2.4 73.6 61 |1k & 41 47 88 12.0 76.0 97 [#&E FF 48 47 95 16.8 78.2
26 | BFE ®#= 40 42 82 8.4 73.6 62 [{£#& BI= 51 43 94 18.0 76.0 98 =% FKE 43 45 88 9.6 78.4
2] |EH HE 43 38 81 1.2 73.8 63 |HFAK XA 41 34 75 -1.2 76.2 99 |KHE 3shF 47 47 94 15.6 78.4
28 |8 EE 46 47 93 19.2 73.8 64 [(BE AEF 44 43 87 10. 8 76.2 100 | KR+t 2 52 48] 100 21.6 78.4 @)
29 [iEE # 52 40 92 18.0 74.0 65 |fEE XX 50 43 93 16.8 76.2 101 [{£#& FES 47 46 93 14. 4 78.6
0 |ME =H 44 41 85 10.8 74.2 O 66 |BER EA 47 39 86 9.6 76.4 102 |7+l #E 50 43 93 14. 4 78.6
31 | KB =X 48 43 91 16.8 74.2 67 |/ 8h 49 43 92 15.6 76.4 103 |&&E & 51 48 99 20.4 78.6
N |k = 47 44 91 16.8 74.2 68 | BEE A 44 47 91 14. 4 76.6 104 |2 5% 49 37 86 1.2 78.8
33 |[mmE 50 47 97 22.8 14.2 69 |R&W BAIx 46 45 91 14.4 76.6 105 | =5 H  HRE 45 47 92 13.2 78.8
34 [/hE R iy 50 97 22.8 14.2 70 |l E& 47 50 97 20.4 76.6 @) 106 |fHll =HF 48 50 98 19.2 78.8
3B |MER BR 42 41 83 8.4 74.6 || 54 49 103 26.4 16. 6 107 |k #8— 54 50| 104 25.2 78.8
36 [ER)I # 42 41 83 8.4 74.6 12 I NE ¢ 53 50| 103 26.4 76.6 108 [faRk SEF] 57 53] 110 31.2 78.8




IBhf K 4 7Y k4 v|vazxlnrTa| 2y b g IBG] K 4 Forl4 v|FaR|INUT4 2y b g
109 |2B8@E &F 44 53 97 18.0 79.0 149|188 #EA 52 571 109 26.4 82.6
110 [BiH A 49 48 97 18.0 79.0 @) 150 [i£#& EBS 50 58| 108 25.2 82.8 @)
1M1 |ETAR BER 49 48 97 18.0 79.0 151 IBE B3 54 52| 106 22.8 83.2
112 "hEr  FBF 53 44 97 18.0 79.0 152 1JIIA B— 52 53| 105 21.6 83.4
113 |B8 IE 55 481 103 24.0 79.0 153 B8 ¥ 58 531 111 27.6 83.4
114151 & 52 511 103 24.0 79.0 154 [{E#& =TEF 53 551 108 22.8 85.2
115 |[IFA == 45 45 90 10.8 79.2 155 fEAFE IEA 58 56 114 28.8 85.2
116 |#hlF  52BR 50 46 96 16.8 79.2 156 [(F&E  XE 61 53| 114 28.8 85.2
M7 |5"E Bt 47 48 95 15.6 79.4 157 |RB &F 49 45 94 8.4 85.6
118 [iEE HEH 52 48| 100 20.4 79.6 158 [{E#E ZEE 55 571 112 26.4 85.6
19 [ZBE =F 55 51 106 26.4 79.6 159 [1&8& BF 53 581 111 25.2 85.8
120|&@E ¥ 50 48 98 18.0 80.0 @) 160 |1k 3> T 57 541 111 24.0 87.0 @)
121 (& &HF 55 43 98 18.0 80.0 161 (21 Fl&E 69 491 118 30.0 88.0 |BBHO
122 | &% 50 47 97 16.8 80. 2 162 |= L= 62 551 117 27.6 89.4
123" NE 52 511 103 22.8 80.2

124 |$%B FEF 49 47 96 15.6 80.4 X OHINLIYT7T—CHBiEFYESE

125 3Tl &% 48 47 95 14.4 80.6

126 |[{FiE BARE 46 49 95 14.4 80.6

127|=8 &— 51 501 101 20.4 80.6

128 |k 2 45 43 88 1.2 80.8

129 |xH & 46 48 94 13.2 80.8

130 | 5B BF 53 53 106 25.2 80.8 @)

131 Rk EA 58 54 112 31.2 80.8

132 %= E1T 45 48 93 12.0 81.0

133 |k 1EF0 57 60| 117 36.0 81.0

134 |88 BA 46 46 92 10.8 81.2

135 |% RBR— 56 48 104 22.8 81.2

136 |HA EX 47 50 97 15.6 81.4

137 |7FK A b5 54 109 27.6 81.4

138 |I|RE RF 53 49 102 20.4 81.6

139 |4k H7TR3 44 51 95 13.2 81.8

140 |=8 HEE 47 48 95 13.2 81.8 O

141 [#21L #F 51 501 101 19.2 81.8

142 |7ZH HEB 48 531 101 19.2 81.8

143 [#5K IEEK 53 54 107 25.2 81.8

144 £ BB 53 47 100 18.0 82.0

145 | %= i 63 55 118 36.0 82.0

146 |#%E & b5 49 104 21.6 82.4

147 |BElR EEX 51 46 97 14. 4 82.6

148 |4BIR & 54 491 103 20.4 82.6




